
In the last lecture, we proved that certain structures were unlikely to appear in 
graphs by defining a random variables X1, …, Xm that are each one if a certain 
structure appears, and zero otherwise.  We then set X to be the sum of the Xis, 
and proved that the expectation of X was small.  We observed by Markov's 
inequality that

But, when we want to show that X is unlikely to be zero, this technique does not 
suffice.  Even if we show that E[X] is big, we have not established that X is unlikely 
to be zero.  In this lecture, we show how to prove such results.

In class, I made a mistake in the presentation of this lecture.  I've fixed the 
mistake in these notes.
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